
SUSPENDED CEILING SYSTEM

8" CMU

5/8" GYP. BD ON 7/8" FURRING CHANNELS

5/8" GYP. BD ON 1 5/8" METAL STUDS

5/8" GYP. SOFFIT ON 3 5/8" METAL STUDS
INDEPENDENT FROM EXISTING STRUCTURE
AND NEW CONSTRUCTION IN EXISTING BUILDING

2" EXPANSION JOINT BEYOND

2" EXPANSION JOINT COVER

EXISTING EXTERIOR WALL
AND STRUCTURE TO REMAIN

A501
13

1st Floor
13' - 4"

HOLLOW METAL FRAME

SEALANT

METAL FLASHING

WEEP HOLES  AT 24" O.C.
- OPEN HEAD JOINT TYPE

RUBBERIZED ASPHALT FLASHING,
LAP OVER METAL FLASHING

AIR BARRIER

CAVITY DRAIN
MESH

MASONRY VENEER

STEEL ANGLE

MASONRY TIE

4" COMPRESSIBLE FOAM
EXPANSION JOINT COVER

EXISTING CEILING ASSEMBLY AND
SUPPORT STRUCTURE TO REMAIN

8" CMU BOND BEAM

NEW CAST-IN PLACE FLOOR SLAB

EXISTING BUILDING FLOOR SLAB

2" EXPANSION JOINT COVER

2"

A501
12

MANUFACTURER'S EXTRUDED ALUMINUM
SILL WITH LEVELING BRACKETS. FINAL HT.
TO BE FLUSH WITH FLOORING

MANUFACTURER'S STEEL SILL ANGLE BOLTED TO
SLAB EDGE.  COORD FINAL SIZE WITH MFR.

SOLID GROUT FILL

ELEVATOR FRAME

METAL FLASHING

WEEP HOLES @ 24" O.C.

AIR BARRIER

CAVITY DRAIN MESH

2" RIGID INSULATION

8" CMU

BRICK VENEER

STEEL LINTEL
-SEE STRUCTURAL

COORDINATE HEAD WITH ELEVATOR MFTR.

1'-5 3/4"

COORDINATE HEAD WITH ELEVATOR MFTR.

1'-2 3/4"

GROUT SOLID

CMU BOND BEAMMETAL STUD

5/8" GYPSUM BOARD

SEALANT

ELEVATOR DOOR HEAD.
COORD. FINAL SHAPE W/ MFR.

4"

8" CMU

2" RIGID INSULATION

MASONRY VENEER

2" AIR SPACE

DOWNSPOUT

6" COMPRESSIBLE FOAM  JOINT WITH SILICONE FACE.
APPLY CONTINUOUS SILICONE SEALANT AT ALL
EDGES. PROVIDE PROPER WATER PROOFING AS
REQUIRED BELOW GRADE.

EXISTING COLUMN WRAP 6" MASONRY TIE

4"

LINE OF EXISTING SLAB BELOW

2" EXPANSION JOINT COVER

1 5/8" METAL STUD

5/8" GYP BD. ON 3 5/8" METAL STUD

EXISTING KNEE WALL BELOW

8 3/4"

2'
-5

 3
/4

"

1'
-1

0"

1 5/8" METAL STUD

EXISTING COLUMN WRAP

EXISTING KNEE WALL BELOW

5 1/4" 1'-10 1/4"

EDGE FORMED INSULATED METAL PANEL
- TO REPLACE EXISTING GLAZING

1/
2"

2"

EXISTING CURTAIN WALL SYSTEM

5/8" GYP BD. ON 7/8"
FURRING CHANNELS

8" CMU

4" COMPRESSIBLE FOAM
EXPANSION JOINT COVER

DOWNSPOUT

BRICK VENEER

2" RIGID INSULATION

AIR BARRIER

5/8" GYP BD. ON 3 5/8"
METAL STUDS

4"

1/
2"

2" EXPANSION JOINT COVER

LINE OF EXISTING SLAB BELOW

1 5/8" METAL STUD

5/8" GYP BD. ON 3 5/8" METAL STUD

5 1/4" 2" 1'-10 1/4"

2'
-5

 3
/4

"

6 3/4"

EXISTING KNEE WALL BELOW

EXISTING KNEE WALL BELOW

EDGE FORMED INSULATED METAL PANEL
- TO REPLACE EXISTING GLAZING

5/8" GYP BD. ON 3 5/8" METAL STUD

CURTAIN WALL GLAZING SYSTEM

ALIGN WITH FACE OF MULLION

4" COMPRESSIBLE FOAM
EXPANSION JOINT COVER

8" CMU

5/8" GYP BD. ON 7/8"
FURRING CHANNELS

5/8" GYP BD. ON 3 5/8"
METAL STUDS

BRICK VENEER

2" RIGID INSULATION

AIR BARRIER

EXISTING COLUMN WRAP

3" COMPRESSIBLE FOAM JOINT WITH SILICONE FACE.
APPLY CONTINUOUS SILICONE SEALANT AT ALL
EDGES. PROVIDE PROPER WATER PROOFING
AS REQUIRED BELOW GRADE.

BRICK VENEER

SEALANT AND BACKER ROD

HOLLOW METAL DOOR JAMB

8" CMU

GROUT SOLID

JAMB ANCHOR

2"

CONTINUOUS EXTRUDED
ALUMINUM FRAME

CONTINUOUS EXTRUDED
FLEXIBLE GASKET

CONTINUOUS EXTRUDED
ALUMINUM CENTER

WIDTH
2 1/2" BLOCKOUT H

E
IG

H
T

2"
 B

LO
C

K
O

U
T

HOISTWAY CLEAR WIDTH

7'-4"

ROUGH OPENING

11"

COORDINATE JAMB WIDTH WITH ELEVATOR MFTR.

CON'T CAULK ALL AROUND

SILL BELOW

SOLID GROUT FILL

CON'T CAULK ALL AROUND

SOLID GROUT FILL

OPENING

4'-0"

HOISTWAY CLEAR WIDTH

7'-4"

ROUGH OPENING

11"

R.O.

6"

COORDINATE JAMB WIDTH WITH ELEVATOR MFTR.

CON'T CAULK ALL AROUND

5/8" GYP. BD. ON 3 5/8" METAL STUDS

SILL BELOW

SOLID GROUT FILL
SOLID GROUT FILL

CON'T CAULK ALL AROUND

2"

WALL/CEILING ASSEMLBY

#6x1 5/8" SCREW 18" O.C.

FRAME CONCEALED BY
FEATHERED JOINT
COMPOUND

CONTINUOUS EXTRUDED
FLEXIBLE GASKET

CONTINUOUS EXTRUDED
ALUMINUM FRAME

STOREFRONT WINDOW - GL-1

AIR BARRIER

2" RIGID INSULATION

8" CMU

BRICK VENEER

MASONRY TIE

SEALANT AND BACKER ROD

SHIM

3 3/4"

STOREFRONT WINDOW - GL-1

METAL FLASHING

WEEP HOLES @ 24" O.C.

AIR BARRIER

CAVITY DRAIN MESH
2" RIGID INSULATION

BRICK VENEER

STEEL LINTEL
-SEE STRUCTURAL
FASTEN TO CONCRETE

SEALANT AND BACKER ROD

SHIM

3 3/4"

STOREFRONT WINDOW - GL-1

CONCRETE SLAB

SEALANT AND BACKER ROD

SHIM

3 3/4" EDGE OF WALL BEYOND

This document is the property of RPA Design and RPA Design retains all rights therein, including copyrights.
      It may only be used in a manner consistent with RPA Design's rights while RPA Design is providing services for the specific project identified or referred to herein or extensions thereto.
      It may not be used for any other purpose except with the express written agreement of, and compensation to, RPA Design.

Project

Salisbury, NC
City, State

VA Project Number

Drawn By

Checked By

Seal / Signature

Sheet Title

Date

Sheet Number

Architect of RecordArchitect of RecordArchitect of RecordArchitect of Record

5960 Fairview Road
Suite 500
Charlotte, NC 28210

704
887.3500
887.3507 fax

ConsultantsConsultantsConsultantsConsultants

Issued For

AME Consulting Engineers, PC
421 Penman Street, Suite 200
Charlotte, NC 28203
704.295.4263 PHONE
704.295.7543 FAX

MECHANICAL/ELECTRICAL/PLUMBING/FIRE PROTECTION:

ZAPATA, Inc.
6302 Fairview Rd., Ste. 600
Charlotte, NC 28210
704.378.4923 PHONE
704.358.8342 FAX

STRUCTURAL:

COLEJENEST & STONE, P.A.
200 South Tryon Street, Suite 1400
Charlotte, North Carolina 28202
704.376.1555 PHONE
704.376.7851 FAX

CIVIL:

DDDDeeeecccceeeemmmmbbbbeeeerrrr    22221111,,,,    2222000011112222

Construction

SLS/SP/BR/FF/ES/AB

FF

2
/2

1
/2

0
1

4
 5

:0
9
:3

5
 P

M
C

:\
U

s
e

rs
\e

liz
a
b

e
th

.s
u
m

n
e

r\
D

o
c
u
m

e
n
ts

\0
9

-0
0

0
5

-0
3
_

V
A

M
C

-S
a

lis
b
u

ry
-P

h
a
s
e
-I

II
_
M

a
in

_
C

1
4

_
e

liz
a

b
e
th

.s
u

m
n
e

r.
rv

t

A501

Elevator Tower Details

659-335

VAMC Salisbury

Building 42 Additions &

Renovation - Phase III

 1 1/2" = 1'-0"
11 Enlarged Vestibule Entry Section

 1 1/2" = 1'-0"
10 Machine Room Door Head Detail

 3" = 1'-0"
3 Elevator Sill Detail

 3" = 1'-0"
4 Ground Floor Elevator Door Head Detail

 3" = 1'-0"
5 Typical Elevator Door Head Detail

 1 1/2" = 1'-0"
1 6" Exterior Expansion Joint Detail

 1 1/2" = 1'-0"
8 Elevator Vestibule Transition Detail

 1 1/2" = 1'-0"
9 Elevator Vestibule Transition Detail - 2

 1 1/2" = 1'-0"
2 3" Exterior Expansion Joint Detail

 3" = 1'-0"
12 Floor Slab Expansion Joint Cover

 1 1/2" = 1'-0"
6 Ground Floor Elevator Jamb Detail

 1 1/2" = 1'-0"
7 Elevator Jamb Detail

 3" = 1'-0"
13 2" Wall & Ceiling Expansion Joint Cover

 3" = 1'-0"
16 Elevator Window - Jamb Detail

 3" = 1'-0"
14 Elevator Window - Head Detail

 3" = 1'-0"
15 Elevator Window - Sill Detail

1

ItemItemItemItem DateDateDateDate DDDDeeeessssccccrrrriiiippppttttiiiioooonnnn

1 02/21/14 Amendment A00004


